# Intuitionistic circular bifuzzy matrices 

E.G. Emam<br>Department of Mathematics, Faculty of Science, Zagazig University, Zagazig, Egypt

## ARTICLE INFO

## Article history:

Received 11 December 2016
Revised 8 February 2017
Accepted 16 February 2017
Available online xxx

## MSC:

15B15
15B33
Keywords:
Intuitionistic fuzzy matrices
Fuzzy matrices
Circular fuzzy matrices


#### Abstract

In this paper, we define the intuitionistic circular fuzzy matrix and introduce the necessary and sufficient conditions for an intuitionistic fuzzy matrix to be circular. Also, we study some properties of intuitionistic circular fuzzy matrices


© 2017 Egyptian Mathematical Society. Production and hosting by Elsevier B.V. This is an open access article under the CC BY-NC-ND license. (http://creativecommons.org/licenses/by-nc-nd/4.0/)

## 1. Introduction

The concept of intuitionistic fuzzy matrices was introduced by Pal et al. [1] as a generalization of the well known ordinary fuzzy matrices introduced by Thomason [2] which take its elements from the unit interval $[0,1]$. An intuitionistic fuzzy matrix is a pair of fuzzy matrices, namely, a membership and non-membership function which represent positive and negative aspects of the given information (see [3,4]). However, intuitionistic fuzzy matrices have been proposed to represent finite intuitionistic fuzzy relations. This concept is a generalization to that of the ordinary fuzzy relations which also is a generalization to the crisp relations (or Boolean relations).

In this paper, we concentrate oure attention on one of the important kind of intuitionstic fuzzy matrices called intuitionistic circular fuzzy matrices. However, a characterization of intuitionistic circular fuzzy matrices is given and some important properties are established.

The paper is organized in three sections. In Section 2, the definitions and operations on intuitionistic fuzzy matrices are briefly introduced. In Section 3, results concerning of intuitionistic circular fuzzy matrices are proved using the operations and notations in the previous section. In Section 4, we exhibit the adjoint of an intuitionistic circular fuzzy matrix throughout its determinant and show that the adjoint of an intuitionistic circular fuzzy matrix is also circular. However, the operations $\vee$ and $\wedge$ play an important role in our work.

[^0]
## 2. Preliminaries and definitions

We give here some definitions and notations which are applied in the paper. Note that an intuitionistic fuzzy matrix $A$ of order $m \times n$ is defined as follows: $A=\left[a_{i j}\right]$ where $a_{i j}=\left\langle a_{i j}^{\prime}, a_{i j}^{\prime \prime}\right\rangle$ and $a_{i j}^{\prime}, a_{i j}^{\prime \prime} \in[0,1]$ maintaining the condition $0 \leq a_{i j}^{\prime}+a_{i j}^{\prime \prime} \leq 1$.

Now, we define some operations on the intuitionistic fuzzy matrices.. For intuitionistic fuzzy matrices $A=\left[a_{i j}\right]_{n \times n}, B=\left[b_{i j}\right]_{n \times n}$, and $C=\left[c_{i j}\right]_{n \times m}$ the following operations are defined [3,5-7].

$$
\begin{aligned}
A \wedge B & =\left[a_{i j} \wedge b_{i j}\right]=\left[\left\langle\min \left(a_{i j}^{\prime}, b_{i j}^{\prime}\right), \max \left(a_{i j}^{\prime \prime}, b_{i j}^{\prime \prime}\right)\right\rangle\right], \\
A \vee B & =\left[a_{i j} \vee b_{i j}\right]=\left[\left\langle\max \left(a_{i j}^{\prime}, b_{i j}^{\prime}\right), \min \left(a_{i j}^{\prime \prime}, b_{i j}^{\prime \prime}\right)\right\rangle\right], \\
A C & =[\langle\underbrace{\vee}_{k=1}\left(a_{i k}^{\prime} \wedge c_{k j}^{\prime}\right), \wedge_{k=1}^{n}\left(a_{i k}^{\prime \prime} \vee c_{k j}^{\prime \prime}\right)\rangle], \\
A^{k} & =\left[a_{i j}^{(k)}\right]=\left[\left\langle a_{i j}^{\prime(k)}, a_{i j}^{\prime \prime(k)}\right\rangle\right]=A^{k-1} A \\
I_{n} & =A^{0}=\left\{\begin{array}{rl}
\langle, 0> & \text { if } i=j, \\
<0,1> & \text { if } \quad i \neq j . \\
A^{T} & \left.=\left[a_{j i}\right] \text { (the transpose of } A\right), \\
\nabla A & =A \wedge A^{T}
\end{array},\right.
\end{aligned}
$$

$A \leq B$ if and only if $a_{i j} \leq b_{i j}$. That is if and only if $a_{i j}^{\prime} \leq b_{i j}^{\prime}$ and $a_{i j}^{\prime \prime} \geq b_{i j}^{\prime \prime}$ for all $i, j$.

We may write $\mathbf{0}$ instead of $\langle 0,1\rangle$ and $\mathbf{1}$ instead of $\langle 1,0\rangle$.
Definition 2.1. [1,3,8-11] . For an $n \times n$ intuitionistic fuzzy matrix A we have:
(a) $A$ is symmetric if and only if $A^{T}=A$,
(b) $A$ is idempotent if and only if $A^{2}=A$,
(c) $A$ is transitive if and only if $A^{2} \leq A$,
(d) $A$ is circular if and only if $\left(A^{2}\right)^{T} \leq A$,
(e) $A$ is weakly reflexive if and only if $a_{i i} \geq a_{i j}$ for all $1 \leq i, j \leq$ $n$,
(f) $A$ is reflexive if and only if $a_{i i}=\mathbf{1}$ for all $1 \leq i \leq n$,
(g) $A$ is similarity if and only if A is symmetric, transitive and reflexive.

It is noted that $\left(A^{T}\right)^{2}=\left(A^{2}\right)^{T}$ for any $n \times n$ matrix. So, the intuitionistic fuzzy matrix $A$ is circular if and only if $A^{2} \leq A^{T}$, i.e., $a_{i k} \wedge a_{k j} \leq a_{j i}$ for every $1 \leq i, j, k \leq n$. Moreover, if $A$ is symmetric, then $A$ is transitive if and only if $A$ is circular.

## 3. Results

Throughout the next two sections we deal only with $n \times n$ intuitionistic fuzzy matrices. In this section, some properties of intuitionistic circular fuzzy matrices are examined by the definitions in the above section. However, we begin with the following proposition.

Proposition 3.1. Let $A$ be an $n \times n$ intuitionistic fuzzy matrix and let $A_{1}$ denotes the $m \times m$ submatrix of $A$ (where $m<n$ ) such that
$A=\left[\begin{array}{ll}A_{1} & A_{2} \\ A_{3} & A_{4}\end{array}\right]$.
Then $A$ is circular if and only if $A_{1}^{2} \leq A_{1}^{T}, A_{2} A_{3} \leq A_{1}^{T}, A_{3} A_{1} \leq A_{2}^{T}$, $A_{4} A_{3} \leq A_{2}^{T}, A_{1} A_{2} \leq A_{3}^{T}, A_{2} A_{4} \leq A_{3}^{T}, A_{3} A_{2} \leq A_{4}^{T}$ and $A_{4}^{2} \leq A_{4}^{T}$.

Proof. Suppose that $A$ satisfies all the above conditions and consider
$A^{2}=B=\left[\begin{array}{ll}B_{1} & B_{2} \\ B_{3} & B_{4}\end{array}\right]$.
Then
$B_{1}=A_{1}^{2} \vee A_{2} A_{3} \leq A_{1}^{T} \vee A_{1}^{T}=A_{1}^{T}$,
$B_{2}=A_{1} A_{2} \vee A_{2} A_{4} \leq A_{3}^{T} \vee A_{3}^{T}=A_{3}^{T}$,
$B_{3}=A_{3} A_{1} \vee A_{4} A_{3} \leq A_{2}^{T} \vee A_{2}^{T}=A_{2}^{T}$
and
$B_{4}=A_{3} A_{2} \vee A_{4}^{2} \leq A_{4}^{T} \vee A_{4}^{T}=A_{4}^{T}$.
Thus, we have $A^{2}=B \leq A^{T}$ and $A$ is circular.
Conversely, suppose that $A$ is circular. For $1 \leq s \leq m$ and $m+$ $1 \leq t \leq n$, Let $C=A_{1}, D=A_{2}, E=A_{3}$ and $F=A_{4}$. Then $c_{s t}=a_{s t}$ for every $1 \leq s, t \leq m, d_{s t}=a_{s(t+m)}$ for every $1 \leq s \leq m$ and $1 \leq t \leq$ $n-m, e_{s t}=a_{(s+m) t}$ for every $1 \leq s \leq n-m$ and $1 \leq t \leq m$ and $f_{s t}=$ $a_{(s+m)(t+m)}$ for every $1 \leq s \leq n-m$ and $1 \leq t \leq n-m$.

1. To show that $A_{1}^{2} \leq A_{1}^{T}$ and $A_{2} A_{3} \leq A_{1}^{T}$, let $G=A_{1}^{2}$ and $H=A_{2} A_{3}$. Then

$$
\begin{aligned}
& g_{s t}=\left\langle\stackrel{m}{k=1}_{m}\left(c_{s k}^{\prime} \wedge c_{k t}^{\prime}\right), \wedge_{k=1}^{m}\left(c_{s k}^{\prime \prime} \vee c_{k t}^{\prime \prime}\right)\right\rangle \\
& =\left\langle\underset{k=1}{\stackrel{m}{v}}\left(a_{s k}^{\prime} \wedge a_{k t}^{\prime}\right), \stackrel{\wedge_{k=1}^{\wedge}}{\wedge}\left(a_{s k}^{\prime \prime} \vee a_{k t}^{\prime \prime}\right)\right\rangle
\end{aligned}
$$

$$
\begin{aligned}
& \leq\left\langle a_{t s}^{\prime}, a_{t s}^{\prime \prime}\right\rangle=a_{t s}=c_{t s} \text {. }
\end{aligned}
$$

Thus, $g_{s t} \leq c_{t s}$ and therefore, $A_{1}^{2} \leq A_{1}^{t}$.

Also,

$$
\begin{aligned}
& h_{s t}=\left\langle{ }_{k=1}^{n-m}\left(d_{s k}^{\prime} \wedge e_{k t}^{\prime}\right), \stackrel{\wedge}{\stackrel{n}{k}=1}\left(d_{s k}^{\prime \prime} \vee e_{k t}^{\prime \prime}\right)\right\rangle \\
& =\left\langle\stackrel{k-m}{n-1}\left(a_{s(k+m)}^{\prime} \wedge a_{(k+m) t}^{\prime}\right), \stackrel{n-m}{\wedge=1}\left(a_{s(k+m)}^{\prime \prime} \vee a_{(k+m) t}^{\prime \prime}\right)\right\rangle \\
& =\left\langle\underset{u=m+1}{\stackrel{n}{\vee}}\left(a_{s u}^{\prime} \wedge a_{u t}^{\prime}\right),{ }_{u=m+1}^{n}\left(a_{s u}^{\prime \prime} \vee a_{u t}^{\prime \prime}\right)\right\rangle \quad(\text { where } u=k+m) \\
& \leq\left\langle\stackrel{V}{u=1}_{\vee}^{\vee}\left(a_{s u}^{\prime} \wedge a_{u t}^{\prime}\right), \wedge_{u=1}^{n}\left(a_{s u}^{\prime \prime} \vee a_{u t}^{\prime \prime}\right)\right\rangle=\left\langle a_{s t}^{\prime(2)}, a_{s t}^{\prime \prime(2)}\right\rangle \\
& \leq\left\langle a_{t s}^{\prime}, a_{t s}^{\prime \prime}\right\rangle=a_{t s}=c_{t s} .
\end{aligned}
$$

Thus, $h_{s t} \leq c_{t s}$ and therefore, $A_{2} A_{3} \leq A_{1}^{T}$.
2. To show that $A_{4} A_{3} \leq A_{2}^{T}$ and $A_{3} A_{1} \leq A_{2}^{T}$, let $Q=A_{4} A_{3}$ and $L=$ $A_{3} A_{1}$. Then

$$
\begin{aligned}
& q_{s t}=\left\langle{ }_{k=1}^{n-m}\left(f_{s k}^{\prime} \wedge e_{k t}^{\prime}\right), \stackrel{\wedge}{\wedge=1} \stackrel{m}{k=1}\left(f_{s k}^{\prime \prime} \vee e_{k t}^{\prime \prime}\right)\right\rangle
\end{aligned}
$$

$$
\begin{aligned}
& =\left\langle\stackrel{\stackrel{n}{\vee}}{\stackrel{\vee}{v}}\left(a_{(s+m) u}^{\prime} \wedge a_{u t}^{\prime}\right), \stackrel{\wedge_{u=m+1}^{n}}{\wedge_{(s+m) u}}\left(a^{\prime \prime} a_{u t}^{\prime \prime}\right)\right\rangle \\
& \text { (where } u=k+m \text { ) } \\
& \leq\left\langle\stackrel{\vee}{u=1}_{n}\left(a_{(s+m) u}^{\prime} \wedge a_{u t}^{\prime}\right),,_{u=1}^{n}\left(a_{(s+m) u}^{\prime \prime} \vee a_{u t}^{\prime \prime}\right)\right\rangle \\
& =\left\langle a_{(s+m) t}^{\prime(2)}, a_{(s+m) t}^{\prime \prime(2)}\right\rangle \\
& \leq\left\langle a_{t(s+m)}^{\prime}, a_{t(s+m)}^{\prime \prime}\right\rangle=a_{t(s+m)}=d_{t s} .
\end{aligned}
$$

Thus, $q_{s t} \leq d_{t s}$ and therefore, $A_{4} A_{3} \leq A_{2}^{T}$. Also,

$$
\begin{aligned}
& l_{s t}=\left\langle\underset{k=1}{m}\left(e_{s k}^{\prime} \wedge c_{k t}^{\prime}\right), \stackrel{m}{\wedge_{k=1}^{\prime}}\left(e_{s k}^{\prime \prime} \vee c_{k t}^{\prime \prime}\right)\right\rangle \\
& =\left\langle\stackrel{m}{k=1}\left(a_{(s+m) k}^{\prime} \wedge a_{k t}^{\prime}\right), \wedge_{k=1}^{m}\left(a_{(s+m) k}^{\prime \prime} \vee a_{k t}^{\prime \prime}\right)\right\rangle \\
& \leq\langle\underbrace{\sum_{k=1}^{n}}_{k=1}\left(a_{(s+m) k}^{\prime} \wedge a_{k t}^{\prime}\right), \wedge_{k=1}^{n}\left(a_{(s+m) k}^{\prime \prime} \vee a_{k t}^{\prime \prime}\right)\rangle \\
& =\left\langle a_{(s+m) t}^{\prime(2)}, a_{(s+m) t}^{\prime \prime(2)}\right\rangle \leq\left\langle a_{t(s+m)}^{\prime}, a_{t(s+m)}^{\prime \prime}\right\rangle=a_{t(s+m)}=d_{t s} .
\end{aligned}
$$

i.e., $l_{s t} \leq d_{t s}$ and therefore, $A_{3} A_{1} \leq A_{2}^{T}$.
3. To show that $A_{1} A_{2} \leq A_{3}^{T}$ and $A_{2} A_{4} \leq A_{3}^{T}$, let $R=A_{1} A_{2}$ and $Z=$ $A_{2} A_{4}$. Then

$$
\begin{aligned}
& =\left\langle\underset{k=1}{\stackrel{m}{v}}\left(a_{s k}^{\prime} \wedge a_{k(t+m)}^{\prime}\right), \wedge_{k=1}^{m}\left(a_{s k}^{\prime \prime} \vee a_{k(t+m)}^{\prime \prime}\right)\right\rangle \\
& \leq\left\langle\stackrel{\vee}{k=1}_{n}^{\vee}\left(a_{s k}^{\prime} \wedge a_{k(t+m)}^{\prime}\right), \wedge_{k=1}^{n}\left(a_{s k}^{\prime \prime} \vee a_{k(t+m)}^{\prime \prime}\right)\right\rangle \\
& =\left\langle a_{s(t+m)}^{\prime(2)}, a_{s(t+m)}^{\prime \prime(2)}\right\rangle \leq\left\langle a_{(t+m) s}^{\prime}, a_{(t+m) s}^{\prime \prime}\right\rangle=a_{(t+m) s}=e_{t s} .
\end{aligned}
$$

Therefore, $A_{1} A_{2} \leq A_{3}^{T}$. Also,

$$
\begin{aligned}
& z_{s t}=\left\langle{\left.\underset{k=1}{n-m}\left(d_{s k}^{\prime} \wedge f_{k t}^{\prime}\right), \stackrel{n-m}{\stackrel{\wedge}{k=1}}\left(d_{s k}^{\prime \prime} \vee f_{k t}^{\prime \prime}\right)\right\rangle}^{a_{k}}\right. \\
& =\left\langle{\left.\underset{k=1}{n-m}\left(a_{s(k+m)}^{\prime} \wedge a_{(k+m)(t+m)}^{\prime}\right), \stackrel{a_{k=1}^{n-m}}{\wedge_{k=1}^{\prime}}\left(a_{s(k+m)}^{\prime \prime} \vee a_{(k+m)(t+m)}^{\prime \prime}\right)\right\rangle}^{\prime \prime}\right. \\
& =\left\langle\stackrel{\unrhd_{u=m+1}^{n}}{\vee}\left(a_{s u}^{\prime} \wedge a_{u(t+m)}^{\prime}\right), \wedge_{u=m+1}^{n}\left(a_{s u}^{\prime \prime} \vee a_{u(t+m)}^{\prime \prime}\right)\right\rangle \\
& \leq\left\langle\stackrel{\vee}{u=1}_{n}\left(a_{s u}^{\prime} \wedge a_{u(t+m)}^{\prime}\right), \wedge_{u=1}^{n}\left(a_{s u}^{\prime \prime} \vee a_{u(t+m)}^{\prime \prime}\right)\right\rangle \\
& =\left\langle a_{s(t+m)}^{\prime(2)}, a_{s(t+m)}^{\prime \prime(2)}\right\rangle \leq\left\langle a_{(t+m) s}^{\prime}, a_{(t+m) s}^{\prime \prime}\right\rangle=a_{(t+m) s}=e_{t s} .
\end{aligned}
$$

Hence, $A_{2} A_{4} \leq A_{3}^{T}$.
4. To show that $A_{3} A_{2} \leq A_{4}^{T}$ and $A_{4}^{2} \leq A_{4}^{T}$, let $P=A_{3} A_{2}$ and $W=A_{4}^{2}$. Then

$$
\begin{aligned}
& p_{s t}=\left\langle\underset{k=m+1}{\stackrel{n}{\vee}}\left(e_{s k}^{\prime} \wedge d_{k t}^{\prime}\right), \wedge_{k=m+1}^{n}\left(e_{s k}^{\prime \prime} \vee d_{k t}^{\prime \prime}\right)\right\rangle \\
& =\left\langle\stackrel{V_{k=m+1}}{\vee}\left(a_{(s+m) k}^{\prime} \wedge a_{k(t+m)}^{\prime}\right), \wedge_{k=m+1}^{n}\left(a_{(s+m) k}^{\prime \prime} \vee a_{k(t+m)}^{\prime \prime}\right)\right\rangle
\end{aligned}
$$

$$
\begin{aligned}
& =\left\langle a_{(s+m)(t+m)}^{\prime(2)}, a_{(s+m)(t+m)}^{\prime \prime(2)}\right\rangle
\end{aligned}
$$

# https://daneshyari.com/en/article/6898950 

Download Persian Version:
https://daneshyari.com/article/6898950

## Daneshyari.com


[^0]:    E-mail address: eg_emom@yahoo.com

